

Chapter 4 S4.1 Orthogod Dars and orthonormal bars

Pecall in an inner product space, v, w are orthogonal "=" perpendicular when $\langle v, w \rangle = 0$. orthogonal "=" perpendicular general dat product

Det: A basis $\vec{v}_1 ... \vec{v}_N$ is called an orthogonal basis if $(\vec{v}_i, \vec{v}_i, \vec{v}_i) = 0$ for all $(i \neq j)$.

A basis
$$U_1 \dots U_n$$
 is called attronormal if

If is orthogonal $(\langle u_i, u_j \rangle = 0)$ and

 $||u_i|| = 1$. (Basis reviews are unit vectors.)

Ex let $V = ||R^n|| \text{ wh dist product.}$ Then $||E_1, \dots, ||E_n||$
 $||e_i|| = (\frac{1}{6})^n$, $||e_i|| = (\frac{1}{6})^n$, ..., $||e_n|| = (\frac{1}{6})^n$ is an

Orthonormal basis.

In fact $||e_i|| = ||e_i|| = ||e$

and they're unit vectors, they have an orthonormal This is the motivating example.

are orthogonal to each ofer

Suppose
$$V = 12^2$$
 $\langle (v_1v_2), (w_1w_2) \rangle = 2v_1w_1 + 3v_2w_2$.
Claim: $e_{1,2}e_2$ $\langle (v_1v_2), (w_1w_2) \rangle = 2v_1w_1 + 3v_2w_2$.
 $\langle e_{1,2}e_2 \rangle = \langle (1,0), (0,1) \rangle$

But
$$||e_1|| = \sqrt{\langle e_1, e_1 \rangle} = \sqrt{2 \cdot 1 \cdot 1 + 3 \cdot 0 \cdot 0}$$

$$= \int_{Z} \neq 1$$

$$u_{1} = \frac{e_{1}}{||e_{1}||} = \frac{1}{\sqrt{2}}, 0$$

$$u_{2} = \frac{e_{2}}{||e_{2}||} = \frac{(1,0)}{\sqrt{3}}$$

So (1/2 10) > (0, 1/2) >> Orthonormy = (03, 12)

$$=$$
 $\int z \neq 1$

= (12,2)

still orthogral.

EX
$$V=IR^3$$
 W dot product

 $V_1 = \begin{pmatrix} 1 \\ 2 \end{pmatrix}$ $V_2 = \begin{pmatrix} 1 \\ 2 \end{pmatrix}$ $V_3 = \begin{pmatrix} 5 \\ 2 \end{pmatrix}$

if $C = \text{otherword}$ basis. Given:

$$\sqrt{1} = \left(\frac{2}{7}\right)^{\frac{1}{2}} = \left(\frac{2}{2}\right)^{\frac{1}{2}}$$
is an arthograph basic.

 $\sqrt{1} = \left(\frac{2}{7}\right)^{\frac{1}{2}} = \left(\frac{2}{7}\right)^{\frac{1}{2}}$
is an arthograph basic.

 $\sqrt{1} = \left(\frac{2}{7}\right)^{\frac{1}{2}} = \left(\frac{2}{7}\right)^{\frac{1}{2}}$
is an arthograph basic.

 $\sqrt{1} = \left(\frac{2}{7}\right)^{\frac{1}{2}} = \left(\frac{2}{7}\right)^{\frac{1}{2}}$
is an arthograph basic.

u, = 1 (2)

$$v_1 \cdot v_1 = 1.5 - 2.2 - 1.1 = 0$$

This is an orthonormal basis.

 $u_{2} = \frac{1}{\sqrt{2}} \begin{pmatrix} 0 \\ \frac{1}{2} \end{pmatrix} \qquad u_{3} = \frac{1}{\sqrt{30}} \begin{pmatrix} 5 \\ -\frac{1}{2} \end{pmatrix} \qquad \text{folish}$ sqrts.

Det: We say that a ser of veets VI...Vie are mutually orthogonal if <v;, vj = 0 i = j. Note: Orthogonal brutes is formed by a basis of mutually orthogonal vectors.

Then they

Prop let V, --- Vk he mutually asknopmal. one on independent set.

Pf: Suppox C,V, +---+ C,VL = 0. WTS C; = 0. On the one hand < vi, C, v, + ---+ ck vh) = (1,0) = 0

STOY!

$$\langle v_i | c_i v_i + ... + c_k v_k \rangle = c_i \langle v_i, v_1 \rangle + ... + c_k \langle v_i, v_k \rangle$$
 $= c_i \cdot 0 + ... + c_i \langle v_i, v_i \rangle + ... + c_k \langle v_i, v_k \rangle$
 $\leq c_i \cdot 0 + ... + c_i \langle v_i, v_i \rangle + ... + c_k \langle v_i, v_k \rangle$
 $= (c_i \cdot ||v_i||^2)$
 $= (c_i \cdot ||v_i||^2)$
 $= (c_i \cdot ||v_i||^2)$

A suring $v_i \neq 0$, then $||v_i||^2 \neq 0$ by positivity

=) ci = 0. The fr all i.

Pap Suppose dim V= n, and V,, --, V, 15 a mutually orthogonal set of a vectors. The this a orthogonal basis. mutually orthogod =) independent n ind. vectors __ basis $\left(\begin{array}{c}1\\2\\1\end{array}\right),\left(\begin{array}{c}1\\2\\1\end{array}\right),\left(\begin{array}{c}5\\1\\1\end{array}\right)$, 3 mutually orthogonal vectors antomatically fun a basis!

U,, --, U, is an orthonormed basis of V. 4ve V V = C, U, + ... + cnun し、こくず、び、シ. No lon egreparj $\| \sim \| = \int c_1^2 + c_2^2 + \dots + c_n^2 ,$ Despite the fact 5-1-7 was gevere,

the still about sine our

usual formula.

$$||^{2} = \langle v, u \rangle = \langle \sum_{i=1}^{n} C_{i}u_{i}, \sum_{j=1}^{n} C_{j}u_{j} \rangle$$

$$= \sum_{i,j=1}^{n} C_{i}c_{i}, \langle u_{i}, u_{i} \rangle$$

$$= \sum_{i,j=1}^{n} C_{i}c_{i}, \langle u_{i}, u_{i} \rangle$$

$$= \langle c_{i}, \langle u_{i}, u_{i}, \rangle + \ldots + \langle c_{i}, \langle u_{n}, u_{n} \rangle$$

$$= \langle c_{i}, \langle u_{i}, u_{i}, \rangle + \ldots + \langle c_{i}, \langle u_{n}, u_{n} \rangle$$

$$= \langle c_{i}, \langle u_{i}, u_{i}, \rangle + \ldots + \langle c_{i}, \langle u_{n}, u_{n} \rangle$$

$$= \langle c_{i}, \langle u_{i}, u_{i}, \rangle + \ldots + \langle c_{i}, \langle u_{n}, u_{n}, \rangle$$

$$= \langle c_{i}, \langle u_{i}, u_{i}, \rangle + \ldots + \langle c_{i}, \langle u_{n}, u_{n}, \rangle$$

$$= \langle c_{i}, \langle u_{i}, u_{i}, \rangle + \ldots + \langle c_{i}, \langle u_{n}, u_{n}, \rangle$$

$$= \langle c_{i}, \langle u_{i}, u_{i}, \rangle + \ldots + \langle c_{i}, \langle u_{n}, u_{n}, \rangle$$

$$= \langle c_{i}, \langle u_{i}, u_{i}, \rangle + \ldots + \langle c_{i}, \langle u_{n}, u_{n}, \rangle$$

$$= \langle c_{i}, \langle u_{i}, u_{i}, \rangle + \ldots + \langle c_{i}, \langle u_{n}, u_{n}, \rangle$$

$$= \langle c_{i}, \langle u_{i}, u_{i}, \rangle + \ldots + \langle c_{i}, \langle u_{n}, u_{n}, \rangle + \langle u_{n}, \langle u_{n}, u_{n}, u_{n}, u_{n}, u_{n}, u_{n}, u_{n}, u_{n}, \rangle + \langle u_{n}, \langle u_{n}, u$$

\\ \V \\ \^2 =

$$= c_1^2 \cdot \langle u, \rangle u, \gamma + \ldots + c_n^2 \cdot \langle u_n, u_n \rangle$$
 by orthonormal

$$= C_{1}^{2} + C_{1}^{2} + \cdots + C_{n}^{n} + C_{n}^{n} + \cdots + C_{n}^{n}$$

$$= C_{1}^{2} + C_{1}^{2} + \cdots + C_{n}^{n} + \cdots + C_{n}^{n$$

$$= C_1^2 + C_2^2 + \cdots + C_n^2$$

$$= C_1^2 + C_2^2 + \cdots + C_n^2$$

$$= C_1^2 + C_2^2 + \cdots + C_n^2$$

$$||v|| = \sqrt{|c_1^2| + \dots + |c_n^2|}.$$

$$X$$
 $U_1 = \sqrt{5} \left(\frac{7}{2} \right)$ $U_2 = \sqrt{5} \left(\frac{9}{2} \right)$ $U_3 = \sqrt{3} \left(\frac{-9}{2} \right)$.

Suppose $U_1 = \left(\frac{1}{2}, \frac{1}{2} \right)$ while V as a line combination of

Not recessory!
$$C_i = \langle \vec{u}, \vec{u}_i \rangle$$

$$U_{1} = \sqrt{\frac{1}{5}} \left(\frac{1}{2}\right) \qquad U_{2} = \frac{1}{\sqrt{5}} \left(\frac{1}{2}\right) \qquad U_{3} = \sqrt{\frac{1}{3}} \left(\frac{-2}{2}\right) \qquad V = \left(\frac{1}{2}\right)$$

$$U_{1} = \sqrt{\frac{1}{5}} \left(\frac{1}{2}\right) \qquad U_{3} = \frac{1}{\sqrt{5}} \left(\frac{1}{2}\right) \qquad V = \left(\frac{1}{2}\right)$$

$$C_2 = v \cdot u_1 = \frac{1}{\sqrt{5}}(0+1+2) = \frac{3}{\sqrt{5}}$$

$$c^3 = A \cdot R^3 = \frac{1}{2} (2-5+1) = \frac{29}{4}$$

$$\begin{pmatrix} 1 \\ 1 \end{pmatrix} = \frac{2}{\sqrt{6}} u_1 + \frac{3}{\sqrt{5}} u_2 + \frac{4}{\sqrt{30}} u_3$$

$$= \frac{2}{\sqrt{6}} \frac{1}{\sqrt{16}} \frac{1$$

$$\int \frac{20 + 54 + 16}{30} = \int \frac{90}{20} = \int \frac{3}{30}$$

$$\frac{1}{3}$$

$$= \sqrt{1^{2}+1^{2}+1}$$

It works!

$$\begin{pmatrix} 2 & -1+i & 1-2i \\ -4 & 3-i & (1+i) \end{pmatrix}$$

$$2(-1+i) + 3-i$$

$$2(-1+i) + 3-i$$

$$2(-1+i) \times 2$$

$$-1+i & 1-2i \\ 0 & 1+i & \times 2$$

$$-1+i & 1-2i \\ 0 & 1+i & \times 2$$

$$-1+i & 1-2i \\ 0 & 1+i & \times 2$$

3.6.306

leading I

$$\frac{1}{1+i} = \frac{1-i}{2} = \frac{1-i}{2}$$

$$\frac{1+i}{1+i} = \frac{1-i}{(1+i)(1-i)} = \frac{1-i}{1^2+1^2} = \frac{1-i}{2}$$

 $(x + iy)(x - iy) = x^2 + ixy - ixy - (iy)^2$

 $\frac{1}{x+iy} = \frac{1}{x+iy} \frac{x-iy}{x-iy} = \frac{x-iy}{(x+iy)(x-iy)}$

$$\begin{pmatrix} 1 \\ 2 \\ -1 \end{pmatrix}$$
, $\begin{pmatrix} \alpha \\ 5 \\ 2 \end{pmatrix}$, $\begin{pmatrix} 5 \\ -2 \\ 5 \end{pmatrix}$ what $\alpha_1 \beta$ make this president?

$$\left(\frac{1}{2}\right)\cdot\left(\frac{6}{2}\right)=0$$

$$a + 2 - 2 = 0$$
 $= b - 4 - 1 = 0$
 $= b - 4 - 1 = 0$

$$\begin{pmatrix} \frac{1}{2} \\ \frac{1}{2} \end{pmatrix} \cdot \begin{pmatrix} \frac{6}{2} \\ \frac{1}{2} \end{pmatrix} = 0$$

$$\begin{pmatrix} \frac{1}{2} \\ \frac{1}{2} \end{pmatrix} \cdot \begin{pmatrix} \frac{6}{2} \\ \frac{1}{2} \end{pmatrix} = 0$$

$$\begin{pmatrix} \frac{1}{2} \\ \frac{1}{2} \end{pmatrix} \cdot \begin{pmatrix} \frac{6}{2} \\ \frac{1}{2} \end{pmatrix} = 0$$

$$\begin{pmatrix} \frac{1}{2} \\ \frac{1}{2} \end{pmatrix} \cdot \begin{pmatrix} \frac{6}{2} \\ \frac{1}{2} \end{pmatrix} = 0$$

$$\begin{pmatrix} \frac{1}{2} \\ \frac{1}{2} \end{pmatrix} \cdot \begin{pmatrix} \frac{6}{2} \\ \frac{1}{2} \end{pmatrix} = \begin{pmatrix} \frac{6}{2} \\$$

 $\begin{pmatrix} 1 \\ 2 \end{pmatrix}, \begin{pmatrix} 0 \\ 2 \end{pmatrix}, \begin{pmatrix} 0 \\ 2 \end{pmatrix}$

now reduce (12-1) to silve!

I free variable?

(a,1,2) = (1,2,-1) x (0,1,2)